

# County Distribution Detail Report through 01/03/2019

### **Aurora**

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,202	1,871	13	3,086	\$3,857.50	\$97.98	\$3,759.52	0.70	\$2,631.66
							Entity Total	:	\$2,631.66
							Adjustment	!	\$0.00
							Total Amou	nt:	\$2,631.66
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,187	10,277	245	12,709	\$15,886.25	\$334.20	\$15,552.05	0.70	\$10,886.44
							Entity Total	:	\$10,886.44
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,886.44
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	920	1,040	3	1,963	\$2,453.75	\$56.78	\$2,396.97	0.70	\$1,677.88
							Entity Total	:	\$1,677.88
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,677.88
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,218	3,800	13	6,031	\$7,538.75	\$152.34	\$7,386.41	0.70	\$5,170.49
							Entity Total	:	\$5,170.49
							Adjustment	:	\$0.00

**Total Amount:** 

\$5,170.49

Brook	kings
-------	-------

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	11,146	19,993	240	31,379	\$39,223.75	\$825.10	\$38,398.65	0.70	\$26,879.06
							Entity Tota	al:	\$26,879.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$26,879.06
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	7,264	25,630	233	33,127	\$41,408.75	\$875.15	\$40,533.60	0.70	\$28,373.52
							Entity Tota	al:	\$28,373.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,373.52
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,516	3,588	8	6,112	\$7,640.00	\$155.96	\$7,484.04	0.70	\$5,238.83
							Entity Tota	al:	\$5,238.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,238.83
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	584	412	2	998	\$1,247.50	\$25.28	\$1,222.22	0.70	\$855.55
							Entity Tota	al:	\$855.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$855.55
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,293	6,161	35	8,489	\$10,611.25	\$222.79	\$10,388.46	0.70	\$7,271.92
							Entity Tota	al:	\$7,271.92

Adjustment:	\$0.00
Total Amount:	\$7,271.92

Campuon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	760	1,373	7	2,140	\$2,675.00	\$53.56	\$2,621.44	0.70	\$1,835.01
							Entity Total	l:	\$1,835.01
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,835.01
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,857	5,323	18	8,198	\$10,247.50	\$209.50	\$10,038.00	0.70	\$7,026.60
							Entity Total	l:	\$7,026.60
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$7,026.60
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
11/2018	9	2,317	0	2,326	\$2,907.50	\$62.56	\$2,844.94	0.70	\$1,991.46
							Entity Total	<b>:</b>	\$1,997.59
							Adjustment	<b>::</b>	\$0.00
							Total Amou	ınt:	\$1,997.59
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,019	2,547	228	3,794	\$4,742.50	\$111.54	\$4,630.96	0.70	\$3,241.67
							Entity Total	<b>:</b>	\$3,241.67
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$3,241.67
City of Sioux Falls, I	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2018	1,785	22,820	1,280	25,885	\$32,356.25	\$717.89	\$31,638.36	0.70	\$22,146.85
							Entity Total	:	\$22,146.85
							Adjustment	:	\$0.00
							Total Amou	ınt:	\$22,146.85
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,437	2,300	12	3,749	\$4,686.25	\$97.48	\$4,588.77	0.70	\$3,212.14
							Entity Total	:	\$3,212.14
							Adjustment	:	\$0.00
							Total Amou	int:	\$3,212.14
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,093	7,146	191	8,430	\$10,537.50	\$232.40	\$10,305.10	0.70	\$7,213.57
							Entity Total	:	\$7,213.57
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$7,213.57
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	4,821	18,306	528	23,655	\$29,568.75	\$634.57	\$28,934.18	0.70	\$20,253.93
							Entity Total	:	\$20,253.93
							Adjustment	::	\$0.00
							Total Amou	int:	\$20,253.93
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,354	576	6	1,936	\$2,420.00	\$49.83	\$2,370.17	0.70	\$1,659.12
							Entity Total	:	\$1,659.12
							Adjustment	::	\$0.00
							Total Amou	int:	\$1,659.12
Custer									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	3,683	5,195	42	8,920	\$11,150.00	\$247.50	\$10,902.50	0.70	\$7,631.75
							Entity Tota	l:	\$7,631.75
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$7,631.75
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2018	4,067	13,531	90	17,688	\$22,110.00	\$458.61	\$21,651.39	0.70	\$15,155.97
							Entity Tota	l:	\$15,156.85
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$15,156.85
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,061	3,477	8	5,546	\$6,932.50	\$140.62	\$6,791.88	0.70	\$4,754.32
							Entity Tota	l:	\$4,754.32
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,754.32
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,917	2,854	11	4,782	\$5,977.50	\$127.39	\$5,850.11	0.70	\$4,095.08
							Entity Tota	l:	\$4,095.08
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,095.08
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,356	2,124	7	3,487	\$4,358.75	\$89.32	\$4,269.43	0.70	\$2,988.60
							Entity Tota	l:	\$2,988.60

Adjustment:	\$0.00
Total Amount:	\$2,988.60

Edmunds
---------

11/2018

1,962

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,288	2,791	16	4,095	\$5,118.75	\$102.96	\$5,015.79	0.70	\$3,511.05
							Entity Tota	l:	\$3,511.05
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$3,511.05
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	3,566	4,230	22	7,818	\$9,772.50	\$203.01	\$9,569.49	0.70	\$6,698.64
							Entity Tota	l:	\$6,698.64
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,698.64
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	911	1,402	13	2,326	\$2,907.50	\$59.81	\$2,847.69	0.70	\$1,993.38
							Entity Tota	l:	\$1,993.38
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,993.38
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,927	5,138	19	7,084	\$8,855.00	\$180.58	\$8,674.42	0.70	\$6,072.09
							Entity Tota	l:	\$6,072.09
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,072.09
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

14

5,394

\$6,742.50

\$145.72

\$6,596.78

0.70

\$4,617.75

3,418

							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,617.75
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,084	1,342	7	2,433	\$3,041.25	\$60.91	\$2,980.34	0.70	\$2,086.24
							Entity Tota	l:	\$2,086.24
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,086.24
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,822	3,565	10	5,397	\$6,746.25	\$135.27	\$6,610.98	0.70	\$4,627.69
							Entity Tota	l:	\$4,627.69
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,627.69
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	684	2,642	13	3,339	\$4,173.75	\$86.01	\$4,087.74	0.70	\$2,861.42
							Entity Tota	l:	\$2,861.42
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,861.42
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	986	2,916	23	3,925	\$4,906.25	\$101.71	\$4,804.54	0.70	\$3,363.18
							Entity Tota	l:	\$3,363.18
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,363.18
Harding									

**Entity Total:** 

\$4,617.75

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	722	841	1	1,564	\$1,955.00	\$49.32	\$1,905.68	0.70	\$1,333.98
							Entity Total	:	\$1,333.98
							Adjustment	::	\$0.00
							Total Amou	int:	\$1,333.98
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2018	2,526	14,103	252	16,881	\$21,101.25	\$477.77	\$20,623.48	0.70	\$14,436.44
							Entity Total	:	\$14,438.19
							Adjustment	::	\$0.00
							Total Amou	int:	\$14,438.19
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	3,202	4,961	44	8,207	\$10,258.75	\$223.20	\$10,035.55	0.70	\$7,024.89
							Entity Total	:	\$7,024.89
							Adjustment	::	\$0.00
							Total Amou	int:	\$7,024.89
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	737	1,062	5	1,804	\$2,255.00	\$45.94	\$2,209.06	0.70	\$1,546.34
							Entity Total	:	\$1,546.34
							Adjustment	::	\$0.00
							Total Amou	int:	\$1,546.34
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	704	761	4	1,469	\$1,836.25	\$36.88	\$1,799.37	0.70	\$1,259.56
							Entity Total	:	\$1,259.56
							Adjustment	i:	\$0.00

Jerau	ld
-------	----

00.00.0									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	950	1,196	5	2,151	\$2,688.75	\$55.17	\$2,633.58	0.70	\$1,843.51
							Entity Total	l:	\$1,843.51
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,843.51
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	603	651	6	1,260	\$1,575.00	\$31.57	\$1,543.43	0.70	\$1,080.40
							Entity Total	l:	\$1,080.40
							Adjustment	t:	\$0.00
							Total Amou	int:	\$1,080.40
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,397	3,854	55	5,306	\$6,632.50	\$136.06	\$6,496.44	0.70	\$4,547.51
							Entity Total	l:	\$4,547.51
							Adjustment	t:	\$0.00
							Total Amou	int:	\$4,547.51
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,108	9,038	63	11,209	\$14,011.25	\$292.67	\$13,718.58	0.70	\$9,603.01
							Entity Total	l:	\$9,603.01
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$9,603.01
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

11/2018	6,195	16,058	171	22,424	\$28,030.00	\$584.80	\$27,445.20	0.70	\$19,211.64
							Entity Total	l:	\$19,212.52
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$19,212.52
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
11/2018	3,116	22,176	1,477	26,769	\$33,461.25	\$734.06	\$32,727.19	0.70	\$22,909.03
							Entity Total	l:	\$22,911.66
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$22,911.66
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,315	1,716	6	3,037	\$3,796.25	\$83.99	\$3,712.26	0.70	\$2,598.58
							Entity Total	<b>:</b>	\$2,598.58
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$2,598.58
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,928	2,732	9	4,669	\$5,836.25	\$120.23	\$5,716.02	0.70	\$4,001.21
							Entity Total	<b>:</b>	\$4,001.21
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$4,001.21
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,402	4,151	16	6,569	\$8,211.25	\$164.90	\$8,046.35	0.70	\$5,632.45
							Entity Total	l:	\$5,632.45
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$5,632.45

## **McPherson**

Wichnerson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,049	1,494	4	2,547	\$3,183.75	\$75.80	\$3,107.95	0.70	\$2,175.57
							Entity Tota	l:	\$2,175.57
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,175.57
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2018	2,577	16,752	272	19,601	\$24,501.25	\$524.48	\$23,976.77	0.70	\$16,783.74
							Entity Tota	l:	\$16,784.62
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$16,784.62
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	626	662	0	1,288	\$1,610.00	\$32.22	\$1,577.78	0.70	\$1,104.45
							Entity Tota	l:	\$1,104.45
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,104.45
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,069	1,553	3	2,625	\$3,281.25	\$65.91	\$3,215.34	0.70	\$2,250.74
							Entity Tota	l:	\$2,250.74
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,250.74
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
11/2018	27,416	143,528	2,006	172,950	\$216,187.50	\$4,595.23	\$211,592.27	0.70	\$148,114.59

							Adjustment	::	\$0.00
							Total Amou	int:	\$148,125.09
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,535	4,484	26	6,045	\$7,556.25	\$177.38	\$7,378.87	0.70	\$5,165.21
							Entity Total	:	\$5,165.21
							Adjustment	::	\$0.00
							Total Amou	int:	\$5,165.21
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2018	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2018	17,905	74,832	1,563	94,300	\$117,875.00	\$2,547.53	\$115,327.47	0.70	\$80,729.23
							Entity Total	:	\$80,730.98
							Adjustment	::	\$0.00
							Total Amou	int:	\$80,730.98
Perkins									
Perkins  Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	<b>Surcharge</b> \$5,093.75	<b>Admin Fee</b> \$111.89	Net Surcharge \$4,981.86	_	Entity Amount \$3,487.30
Reporting Period			Lines		_		_	Percent 0.70	·
Reporting Period			Lines		_		\$4,981.86	Percent 0.70	\$3,487.30
Reporting Period			Lines		_		\$4,981.86 Entity Total	<b>Percent</b> 0.70	\$3,487.30 <b>\$3,487.30</b>
Reporting Period			Lines		_		\$4,981.86  Entity Total  Adjustment	<b>Percent</b> 0.70	\$3,487.30 \$3,487.30 \$0.00
Reporting Period			Lines		_		\$4,981.86  Entity Total  Adjustment	<b>Percent</b> 0.70	\$3,487.30 \$3,487.30 \$0.00
Reporting Period 11/2018  Potter	1,791	2,278	Lines 6 VOIP	4,075	\$5,093.75	\$111.89	\$4,981.86  Entity Total  Adjustment  Total Amou	Percent 0.70 : :: :: :: :: Entity	\$3,487.30 \$3,487.30 \$0.00 \$3,487.30
Reporting Period  11/2018  Potter  Reporting Period	1,791 Telecom Lines	2,278 Wireless Lines	VOIP Lines	4,075 Total Lines	\$5,093.75 Surcharge	\$111.89  Admin Fee	\$4,981.86  Entity Total  Adjustment  Total Amou	Percent  0.70  : :: int: Entity Percent  0.70	\$3,487.30 \$3,487.30 \$0.00 \$3,487.30 Entity Amount
Reporting Period  11/2018  Potter  Reporting Period	1,791 Telecom Lines	2,278 Wireless Lines	VOIP Lines	4,075 Total Lines	\$5,093.75 Surcharge	\$111.89  Admin Fee	\$4,981.86  Entity Total Adjustment Total Amou	Percent  0.70  Entity Percent  0.70	\$3,487.30 \$3,487.30 \$0.00 \$3,487.30 Entity Amount \$2,642.68
Reporting Period  11/2018  Potter  Reporting Period	1,791 Telecom Lines	2,278 Wireless Lines	VOIP Lines	4,075 Total Lines	\$5,093.75 Surcharge	\$111.89  Admin Fee	\$4,981.86  Entity Total Adjustment Total Amou  Net Surcharge  \$3,775.25  Entity Total	Percent  0.70  Entity Percent  0.70  Entity	\$3,487.30 \$3,487.30 \$0.00 \$3,487.30 Entity Amount \$2,642.68 \$2,642.68

**Entity Total:** 

\$148,125.09

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	3,870	4,791	17	8,678	\$10,847.50	\$238.71	\$10,608.79	0.70	\$7,426.15
							Entity Total	al:	\$7,426.15
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,426.15
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	901	1,757	10	2,668	\$3,335.00	\$66.98	\$3,268.02	0.70	\$2,287.61
							Entity Total	al:	\$2,287.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,287.61
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	1,626	4,417	12	6,055	\$7,568.75	\$155.24	\$7,413.51	0.70	\$5,189.46
							Entity Total	al:	\$5,189.46
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,189.46
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	389	2,119	14	2,522	\$3,152.50	\$66.17	\$3,086.33	0.70	\$2,160.43
							Entity Tota	al:	\$2,160.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,160.43
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	771	1,157	4	1,932	\$2,415.00	\$48.35	\$2,366.65	0.70	\$1,656.66
							Entity Total	al:	\$1,656.66
							Adjustme	nt:	\$0.00

## Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	0	46	2	48	\$60.00	\$9.55	\$50.45	0.70	\$35.32
							Entity Tota	l:	\$35.32
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$35.32
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,731	3,829	5	6,565	\$8,206.25	\$166.47	\$8,039.78	0.70	\$5,627.85
							Entity Tota	l:	\$5,627.85
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,627.85
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,357	6,056	17	8,430	\$10,537.50	\$212.31	\$10,325.19	0.70	\$7,227.63
							Entity Tota	l:	\$7,227.63
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$7,227.63
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	3,415	10,669	411	14,495	\$18,118.75	\$431.03	\$17,687.72	0.70	\$12,381.40
							Entity Tota	l:	\$12,381.40
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$12,381.40
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	2,239	3,559	71	5,869	\$7,336.25	\$148.72	\$7,187.53	0.70	\$5,031.27

Entity Total: \$5,031.27

Adjustment: \$0.00

Total Amount: \$5,031.27

## Yankton

Net Surcharge Entity Percent	Entity Amount
\$23,598.28 0.70	\$16,518.80
Entity Total:	\$16,518.80
Adjustment:	\$0.00
Total Amount:	\$16,518.80
¢ 022.064.47	
	\$23,598.28 0.70  Entity Total: Adjustment: